

SLOT RECEIPT

GENERATED AT 2025-02-11 08:55 (UTC)



BLOCKCHAIN BEACON-CHAIN

SLOT ID 8342694

DATE & TIME Feb 03, 2024 · 05:04 (UTC)

SLOT STATUS In epoch 260,709 ⋅ CONFIRMED ✓

SLOT FEE NO FEE

DEPOSITS EVENTS

#	Validator Id	Amount
1	<u>1180030</u>	+ 32.000000000 ETH � 73,716.48 USD
<u>2</u>	<u>1180031</u>	+ 32.000000000 ETH � 73,716.48 USD
<u>3</u>	1180032	+ 32.000000000 ETH
<u>4</u>	<u>1180033</u>	+ 32.000000000 ETH � 73,716.48 USD
<u>5</u>	<u>1180034</u>	+ 32.000000000 ETH � 73,716.48 USD
<u>6</u>	<u>1180035</u>	+ 32.000000000 ETH
<u>7</u>	<u>1180036</u>	+ 32.000000000 ETH � 73,716.48 USD

^{*} USD values displayed at the time of slot

8 1180037 + 32.0000000000 ETH ♥ 73,716.48 USD 9 1180038 + 32.0000000000 ETH ♥ 73,716.48 USD 10 1180039 + 32.0000000000 ETH ♥ 73,716.48 USD 11 1180040 + 32.0000000000 ETH ♥ 73,716.48 USD 12 1180041 + 32.0000000000 ETH ♥ 73,716.48 USD 13 1180042 + 32.0000000000 ETH ♥ 73,716.48 USD 14 1180043 + 32.0000000000 ETH ♥ 73,716.48 USD 15 1180044 + 32.0000000000 ETH ♥ 73,716.48 USD 16 1180045 + 32.0000000000 ETH ♥ 73,716.48 USD WITHDRAWALS EVENTS # Validator Id Amount 1 457888 - 0.017774956 ETH ♥	<u>#</u>	<u>Validator Id</u>	<u>Amount</u>
73,716.48 USD 10 1180039 + 32.0000000000 ETH 73,716.48 USD 11 1180040 + 32.0000000000 ETH 73,716.48 USD 12 1180041 + 32.0000000000 ETH 73,716.48 USD 13 1180042 + 32.0000000000 ETH 73,716.48 USD 14 1180043 + 32.0000000000 ETH 73,716.48 USD 15 1180044 + 32.0000000000 ETH 73,716.48 USD 16 1180045 + 32.0000000000 ETH 73,716.48 USD WITHDRAWALS EVENTS # Validator Id Amount	<u>8</u>	<u>1180037</u>	
11 1180040	9	<u>1180038</u>	
73,716.48 USD 12 1180041	<u>10</u>	<u>1180039</u>	
13 1180042 + 32.0000000000 ETH ♥ 73,716.48 USD 14 1180043 + 32.0000000000 ETH ♥ 73,716.48 USD 15 1180044 + 32.0000000000 ETH ♥ 73,716.48 USD 16 1180045 + 32.0000000000 ETH ♥ 73,716.48 USD WITHDRAWALS EVENTS # Validator Id Amount	<u>11</u>	1180040	
73,716.48 USD 14 1180043 + 32.0000000000 ETH ❖ 73,716.48 USD 15 1180044 + 32.0000000000 ETH ❖ 73,716.48 USD 16 1180045 + 32.0000000000 ETH ❖ 73,716.48 USD WITHDRAWALS EVENTS # Validator Id Amount	<u>12</u>	<u>1180041</u>	
73,716.48 USD 15 1180044 + 32.0000000000 ETH ♥ 73,716.48 USD 16 1180045 + 32.000000000 ETH ♥ 73,716.48 USD WITHDRAWALS EVENTS # Validator Id Amount	<u>13</u>	<u>1180042</u>	
73,716.48 USD 16 1180045 + 32.000000000 ETH 73,716.48 USD WITHDRAWALS EVENTS # Validator Id Amount	<u>14</u>	<u>1180043</u>	
73,716.48 USD WITHDRAWALS EVENTS # Validator Id Amount	<u>15</u>	<u>1180044</u>	
# Validator Id Amount	<u>16</u>	<u>1180045</u>	
	WITHDRAWALS EVENTS		
<u>1</u> <u>457888</u> - 0.017774956 ETH �	#	Validator Id	Amount
40.94 USD	<u>1</u>	<u>457888</u>	-
<u>2</u> <u>457889</u> - 0.017716990 ETH	<u>2</u>	<u>457889</u>	
<u>3 457890</u> - 0.017747710 ETH ⊘ 40.88 USD	<u>3</u>	<u>457890</u>	

<u>#</u>	Validator Id	<u>Amount</u>
<u>4</u>	<u>457891</u>	- 0.017700232 ETH � 40.77 USD
<u>5</u>	<u>457892</u>	- 0.017737552 ETH 40.86 USD
<u>6</u>	<u>457893</u>	- 0.017737513 ETH 40.86 USD
<u>7</u>	<u>457894</u>	- 0.017732319 ETH
<u>8</u>	<u>457895</u>	- 0.017796321 ETH � 40.99 USD
<u>9</u>	<u>457896</u>	- 0.017743180 ETH � 40.87 USD
<u>10</u>	<u>457897</u>	- 0.017681275 ETH � 40.73 USD
<u>11</u>	<u>457898</u>	- 0.017744476 ETH � 40.87 USD
<u>12</u>	<u>457899</u>	- 0.017755255 ETH
<u>13</u>	<u>457900</u>	- 0.017676562 ETH
<u>14</u>	<u>457901</u>	- 0.017750361 ETH � 40.89 USD
<u>15</u>	<u>457902</u>	- 0.017773128 ETH ⊘ 40.94 USD
<u>16</u>	<u>457903</u>	- 0.017733637 ETH � 40.85 USD

PROPOSALS EVENTS

#	Validator Id	Amount
1	<u>162922</u>	+ 0.042688379 ETH ⊘ 98.33 USD

DISCLAIMER

THIS RECEIPT IS BASED ON PUBLIC DATA FROM THE BEACON-CHAIN BLOCKCHAIN. BLOCKCHAIR MAKES NEITHER WARRANTY THAT THIS RECEIPT IS FREE OF ERRORS, NOR WARRANTY THAT ITS CONTENT IS ACCURATE. BLOCKCHAIR WILL NOT BE RESPONSIBLE OR LIABLE TO YOU FOR ANY LOSS OF ANY KIND, FROM ACTION TAKEN, OR TAKEN IN RELIANCE ON INFORMATION CONTAINED IN THIS RECEIPT. BLOCKCHAIR IS NEITHER A BANK, NOR A PAYMENT PROCESSOR FOR THIS PAYMENT. BLOCKCHAIR DOES NOT PROVIDE SUPPORT IN CASE OF PROBLEMS ASSOCIATED WITH THIS RECEIPT.

^{*} USD values displayed at the time of slot